

A new class of harmonic univalent functions associated with q-derivative defined by Hadamard product

E. A. Adwan*

*Common First Year
Saudi Electronic University
Riyadh
Saudi Arabia
eman.a2009@yahoo.com
e.adwan@seu.edu.sa*

M. K. Aouf

*Department of Mathematics
Faculty of Science
Mansoura University
Mansoura 35516
Egypt
mkaouf127@yahoo.com*

Abstract. In this paper, we introduce a class of harmonic univalent functions associated with q-derivative defined by Hadamard product. The object of the present paper is to determine coefficient estimates, extreme points, distortion bounds and convex combination for functions belonging to this class.

Keywords: harmonic univalent functions, q-derivative, extreme points.

1. Introduction

A continuous complex-valued function $f = u + iv$ is defined in a simply connected complex domain D is said to be harmonic in D if both u and v are real harmonic in D . In any simply connected domain we can write

$$(1.1) \quad f = h + \bar{g},$$

where h and g are analytic in D . We call h the analytic part and g the co-analytic part of f . A necessary and sufficient condition for f to be locally univalent and sense-preserving in D is that $|h'(z)| > |g'(z)|$ in D (see [11]).

Denote by S_H the class of functions f of the form (1.1) that are harmonic univalent and sense-preserving in the unit disc $U = \{z : |z| < 1\}$ for which $f(0) = f_z(0) - 1 = 0$. Then for $f = h + \bar{g} \in S_H$ we may express the analytic functions h and g as

$$(1.2) \quad h(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad g(z) = \sum_{n=1}^{\infty} b_n z^n, \quad |b_1| < 1.$$

*. Corresponding author

In [11] Clunie and Shell-Small investigated the class S_H as well as its geometric subclasses and obtained some coefficient bounds. Since then, there have been several related papers on S_H and its subclasses. Denote by V_H the subclass of S_H consisting of functions of the form $f = h + \bar{g}$, where

$$(1.3) \quad h(z) = z + \sum_{n=2}^{\infty} |a_n| z^n, g(z) = \sum_{n=1}^{\infty} |b_n| z^n, \quad |b_1| < 1.$$

and $f(z)$ is the given by

$$(1.4) \quad f = z + \sum_{n=2}^{\infty} |a_n| z^n + \sum_{n=1}^{\infty} |b_n| \bar{z}^n, \quad |b_1| < 1.$$

For $0 < q < 1$, the q -derivative of a function $f \in A$ is defined by (see [6], [7], [9], [16], [18], [25] and [26])

$$(1.5) \quad D_q f(z) = \begin{cases} \frac{f(qz) - f(z)}{(q-1)z}, & (z \neq 0) \\ f'(0), & (z = 0) \end{cases}$$

and $D_q^2 f(z) = D_q(D_q f(z))$. From (1.5), we have

$$(1.6) \quad D_q f(z) = 1 + \sum_{n=2}^{\infty} [n]_q a_n z^{n-1},$$

where

$$(1.7) \quad [n]_q = \frac{1 - q^n}{1 - q}, \quad (0 < q < 1).$$

As $q \rightarrow 1^-$, $[n]_q \rightarrow n$. For a function $h(z) = z^n$, we obtain

$$D_q(h(z)) = D_q(z^n) = \frac{1 - q^n}{1 - q} z^{n-1} = [n]_q z^{n-1},$$

$$\lim_{q \rightarrow 1^-} (D_q(h(z))) = \lim_{q \rightarrow 1^-} \left([n]_q z^{n-1} \right) = n z^{n-1} = h'(z),$$

where h' is the ordinary derivative. For functions $f(z) \in V_H$ given by given by (1.4) and $F \in V_H$ given by

$$(1.8) \quad F(z) = H(z) + \overline{G(z)} = z + \sum_{n=2}^{\infty} |A_n| z^n + \sum_{n=1}^{\infty} \overline{|B_n| z^n}, \quad A_n, B_n \geq 0,$$

we recall the Hadamard product (or convolution) of f and F by

$$(1.9) \quad \begin{aligned} (f * F)(z) &= (h * H)(z) + \overline{(g * G)(z)} \\ &= z + \sum_{n=2}^{\infty} |a_n| |A_n| z^n + \sum_{n=1}^{\infty} \overline{|b_n| |B_n| z^n}. \end{aligned}$$

For $0 < q < 1, 1 < \gamma \leq 2, 0 \leq \lambda \leq 1, A_n, B_n \geq 0$ and for all $z \in U$, let $S_{H,q}(F, \lambda, \gamma)$ denote the family of harmonic functions $(f * F)(z) = (h * H)(z) + \overline{(g * G)(z)}$, where h and g are given by (1.2), H and G are given by (1.9) and satisfying the analytic criterion

$$(1.10) \quad \operatorname{Re} \left\{ (1 - \lambda) \frac{(f * F)(z)}{z} + \lambda D_q(f * F)(z) \right\} < \gamma.$$

Equivalently

$$(1.11) \quad \operatorname{Re} \left\{ (1 - \lambda) \frac{(h * H)(z) + \overline{(g * G)(z)}}{z} + \lambda \left[D_q(h * H)(z) + \overline{D_q(g * G)(z)} \right] \right\} < \gamma.$$

Let $\overline{S}_{H,q}(F, \lambda, \gamma)$ be the subclass of $S_{H,q}(F, \lambda, \gamma)$ consisting of functions $(f * F)(z) = (h * H)(z) + \overline{(g * G)(z)}$ given by (1.9).

We note that for suitable choices of F and λ we obtain the following subclasses:

(1) If we take $\lambda = 0$ and $F(z) = z + \sum_{n=2}^{\infty} \Psi_n(\alpha_1) z^n + \sum_{n=1}^{\infty} \overline{\Psi_n(\alpha_1) z^n}$, where $\Psi_n(\alpha_1)$ is given by

$$(1.12) \quad \Psi_n(\alpha_1) = \frac{(\alpha_1)_{n-1} \dots (\alpha_r)_{n-1}}{(\beta_1)_{n-1} \dots (\beta_s)_{n-1} (n-1)!}$$

($\alpha_i > 0, i = 1, \dots, r, \beta_j, j = 1, \dots, s; r \leq s + 1; s, r \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}, \mathbb{N} = \{1, 2, \dots\}, z \in U$), the class $\lim_{q \rightarrow 1^-} \overline{S}_H(z + \sum_{n=2}^{\infty} \Psi_n(\alpha_1) z^n + \sum_{n=1}^{\infty} \overline{\Psi_n(\alpha_1) z^n}, 0, \gamma)$, where $\Psi_n(\alpha_1)$ is given by (1.12), reduces to the class $\overline{S}_{H,r,s}([\alpha_1]; \gamma)$ (see [8]).

(2) If we take $\lambda = 0$ and

$$F(z) = z + \sum_{n=2}^{\infty} \left(\frac{1+l+\mu(n-1)}{l+1} \right)^\eta z^n + (-1)^\eta \sum_{n=1}^{\infty} \overline{\left(\frac{1+l+\mu(n-1)}{l+1} \right)^\eta} z^n, (\eta \in \mathbb{N}_0, \mu \geq 0, l \geq 0),$$

the class $\lim_{q \rightarrow 1^-} \overline{S}_H(z + \sum_{n=2}^{\infty} \left(\frac{1+l+\mu(n-1)}{l+1} \right)^\eta z^n + (-1)^\eta \sum_{n=1}^{\infty} \overline{\left(\frac{1+l+\mu(n-1)}{l+1} \right)^\eta} z^n, \lambda, \gamma)$ the class reduces to reduces to the class $\overline{ST}^\eta(\mu, l; \gamma)$ (see [21]).

(3) If we take $\lambda = 0$ and

$$F(z) = z + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1) \Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^\eta z^n + (-1)^\eta \sum_{n=1}^{\infty} \overline{\left[\frac{\Gamma(n+1) \Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^\eta} z^n, (0 \leq \mu < 1, \eta \in \mathbb{N}_0),$$

the class

$$\lim_{q \rightarrow 1^-} \overline{S_H}(z + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^\eta z^n + (-1)^\eta \sum_{n=1}^{\infty} \overline{\left[\frac{\Gamma(n+1)\Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^\eta z^n, \gamma}$$

reduces to the class $\overline{R_H}(\eta, \mu, \gamma)$ (see [24]).

(4) If we take $\lambda = 1$ and $F(z) = \frac{z}{1-z} + \frac{\overline{z}}{1-\overline{z}}$, the class $\lim_{q \rightarrow 1^-} \overline{S_H}(\frac{z}{1-z} + \frac{\overline{z}}{1-\overline{z}}, 1, \gamma)$ reduces to the class $\overline{S_H}(\gamma)$ (see [13]).

(5) If we take $F(z) = z + \sum_{n=2}^{\infty} \Upsilon_n^m(\alpha_1, l, \mu) z^n + (-1)^m \sum_{n=1}^{\infty} \overline{\Upsilon_n^m(\alpha_1, l, \mu)} z^n$, where $\Upsilon_n^m(\alpha_1, l, \mu)$ is given by

$$(1.13) \quad \Upsilon_n^m(\alpha_1, l, \mu) = \left[\frac{1+l+\mu(n-1)}{l+1} \Psi_n(\alpha_1) \right]^m, \quad m \in \mathbb{N}_0, \mu \geq 0, l \geq 0$$

and $\Psi_n(\alpha_1)$ is given by (1.12), the class

$$\lim_{q \rightarrow 1^-} \overline{S_H} \left(z + \sum_{n=2}^{\infty} \Upsilon_n^m(\alpha_1, l, \mu) z^n + \sum_{n=1}^{\infty} \overline{\Upsilon_n^m(\alpha_1, l, \mu)} z^n, \lambda, \gamma \right)$$

reduces to the class $\overline{R_{H,r,s}}([\alpha_1], \eta, \mu, l, \gamma) =$

$$\left\{ f \in \overline{S_H} : \operatorname{Re} \left((1-\lambda) \frac{D_{\mu,l}^{m,r,s} f(z)}{z} + \lambda \left(D_{\mu,l}^{m,r,s} f(z) \right)' \right) < \gamma, \right. \\ \left. \mu, l \geq 0; 0 \leq \lambda \leq 1; r, s, m \in \mathbb{N}_0; 1 < \gamma \leq 2; z \in U \right\},$$

where $D_{\mu,l}^{m,r,s} f(z)$ is the modified extended multiplier Dziok-Srivastava operator, defined as follows:

$$\begin{aligned} I(\eta, \mu, l) f(z) &= I^\eta(\mu, l) h(z) + I^\eta(\mu, l) \overline{g(\overline{z})} \\ &= z + \sum_{n=2}^{\infty} \Upsilon_n^m(\alpha_1, l, \mu) |a_n| z^n + \sum_{n=1}^{\infty} \overline{\Upsilon_n^m(\alpha_1, l, \mu)} |b_n| z^n \end{aligned}$$

and the operator $D_{\mu,l}^{m,r,s}$ was introduced and studied by El-Ashwah et al. (see [15]).

(6) If we take

$$F(z) = z + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^m z^n + (-1)^m \sum_{n=1}^{\infty} \overline{\left[\frac{\Gamma(n+1)\Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^m} z^n,$$

($0 \leq \mu < 1, m \in \mathbb{N}_0$), the class $\lim_{q \rightarrow 1^-} \overline{S_H}(z + \sum_{n=2}^{\infty} \left[\frac{\Gamma(n+1)\Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^m z^n +$

$(-1)^m \sum_{n=1}^{\infty} \overline{\left[\frac{\Gamma(n+1)\Gamma(1-\mu)}{\Gamma(n-\mu)} \right]^m} z^n, \lambda, \gamma)$ reduces to the class $\overline{R_H}(m, \mu, \lambda, \gamma) =$

$$\left\{ f \in \overline{S_H} : \operatorname{Re} \left((1-\lambda) \frac{\Omega^m f(z)}{z} + \lambda \left(\Omega^m f(z) \right)' \right) < \gamma, \right. \\ \left. 0 \leq \mu < 1; 0 \leq \lambda \leq 1; 1 < \gamma \leq 2; m \in \mathbb{N}_0; z \in U \right\},$$

the operator Ω^m was introduced and studied by Dixit and Porwal (see [14]).

(7) If we take

$$F(z) = z + \sum_{n=2}^{\infty} [1 + \mu(n - 1)]^\eta C(n, \delta) z^n + (-1)^\eta \sum_{n=1}^{\infty} \overline{[1 + \mu(n - 1)]^\eta C(n, \delta) z^n},$$

where $C(n, \delta) = \binom{n+\delta+1}{\delta}$, $\mu > 0, \eta, \delta \in \mathbb{N}_0$, the class

$$\lim_{q \rightarrow 1^-} \overline{S_H} \left(z + \sum_{n=2}^{\infty} [1 + \mu(n - 1)]^\eta C(n, \delta) z^n + (-1)^\eta \sum_{n=1}^{\infty} \overline{[1 + \mu(n - 1)]^\eta C(n, \delta) z^n}, \lambda, \gamma \right)$$

reduces to the class $\overline{S_H}(\mu, \eta, \delta, \lambda, \gamma) =$

$$\left\{ f \in \overline{S_H} : \operatorname{Re} \left((1 - \lambda) \frac{D(\eta, \delta, \mu) f(z)}{z} + \lambda (D(\eta, \delta, \mu) f(z))' \right) < \gamma \right. \\ \left. \mu > 0; 0 \leq \lambda \leq 1; \eta, \delta \in \mathbb{N}_0; 1 < \gamma \leq 2; z \in U \right\},$$

where the operator $D(\eta, \delta, \mu) f(z)$ is defined as follows (see [12]):

$$D(\eta, \delta, \mu) f(z) = D_{\delta, \mu}^\eta h(z) + D_{\delta, \mu}^\eta \overline{g(z)} \\ = z + \sum_{n=2}^{\infty} [1 + \mu(n - 1)]^\eta C(n, \delta) |a_n| z^n \\ + (-1)^\eta \sum_{n=1}^{\infty} \overline{[1 + \mu(n - 1)]^\eta C(n, \delta) |b_n| z^n},$$

the operator $D_{\delta, \mu}^\eta$ was introduced and studied by Al-Shaqsi and Darus (see [5]).

Also we note that:

(1) If we take $\lambda = 1$, the class $\overline{S_{H,q}}(F, 1, \gamma)$ reduces to the class $\overline{S_{H,q}}(F, \gamma) = \{f \in \overline{S_H} : \operatorname{Re}(D_q(f * F)(z)) < \gamma, 0 < q < 1, 1 < \gamma \leq 2; z \in U\}$.

(2) If we take $F(z) = \frac{z}{1-z} + \frac{\overline{z}}{1-\overline{z}}$, the class $\overline{S_H}(\frac{z}{1-z} + \frac{\overline{z}}{1-\overline{z}}, \lambda, \gamma)$ reduces to the class $\overline{S_{H,q}}(\lambda, \gamma) = \{f \in \overline{S_H} : \operatorname{Re}((1 - \lambda) \frac{f(z)}{z} + \lambda D_q f(z)) < \gamma, 0 < q < 1, 0 \leq \lambda \leq 1; 1 < \gamma \leq 2; z \in U\}$.

(3) If we take $F(z) = z + \sum_{n=2}^{\infty} \Gamma(\alpha_1, \beta_1, q, n) z^n + \sum_{n=1}^{\infty} \overline{\Gamma(\alpha_1, \beta_1, q, n) z^n}$, where $\Gamma(\alpha_1, \beta_1, q, n)$ is given by

$$(1.14) \quad \Gamma(\alpha_1, \beta_1, q, n) = \frac{(\alpha_1, q)_{n-1} \cdots (\alpha_r, q)_{n-1}}{(q, q)_{n-1} (\beta_1, q)_{n-1} \cdots (\beta_s, q)_{n-1}}$$

$(\alpha_i > 0, i = 1, \dots, r, \beta_j, j = 1, \dots, s; r = s + 1; s, r \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}, \mathbb{N} = \{1, 2, \dots\}; |q| < 1, z \in U)$, the class $\overline{S_H}(z + \sum_{n=2}^{\infty} \Gamma(\alpha_1, \beta_1, q, n) z^n +$

$\sum_{n=1}^{\infty} \overline{\Gamma(\alpha_1, \beta_1, q, n)z^n}, 0, \gamma)$, where $\Gamma(\alpha_1, \beta_1, q, n)$ is given by (1.14), reduces to the class

$$\begin{aligned} &\overline{R}_H(q, \alpha_1, \beta_1, \lambda, \gamma) \\ &= \left\{ f \in \overline{S}_H : \operatorname{Re} \left((1 - \lambda) \frac{H_s^r[\alpha_1, \beta_1, q]f(z)}{z} + \lambda D_q (H_s^r[\alpha_1, \beta_1, q]f(z)) \right) < \gamma, \right. \\ &\quad \left. 0 < q < 1; \alpha_i, \beta_j > 0; 0 \leq \lambda \leq 1; 1 < \gamma \leq 2; s, r \in \mathbb{N}_0; z \in U \right\}, \end{aligned}$$

where $H_s^r[\alpha_1, \beta_1, q]f(z) = H_s^r(\alpha_1, \dots, \alpha_r; \beta_1, \dots, \beta_s; q)f(z)$ and the operator $H_s^r[\alpha_1, \beta_1, q]$ was introduced and studied by Mohammed and Darus (see [20] and [1]), and $\lim_{q \rightarrow 1^-} H_s^r[\alpha_1, \beta_1, q]$ reduces to the operator $H_{q,s}(\alpha_1, \beta_1)$ is the modified Dziok-Srivastava operator (see [3] and [4]).

(4) If we take $F(z) = z + \sum_{n=2}^{\infty} \frac{[n+\eta-1]_q!}{[\eta]_q! [n-1]_q!} z^n + \sum_{n=1}^{\infty} \frac{[n+\eta-1]_q!}{[\eta]_q! [n-1]_q!} z^n$ ($\eta > -1$), the class $\overline{S}_H(z + \sum_{n=2}^{\infty} \frac{[n+\eta-1]_q!}{[\eta]_q! [n-1]_q!} z^n + \sum_{n=1}^{\infty} \frac{[n+\eta-1]_q!}{[\eta]_q! [n-1]_q!} z^n, \lambda, \gamma)$ reduces to the class

$$\begin{aligned} \overline{S}_{H_q}(\eta, \lambda, \gamma) &= \left\{ f \in \overline{S}_H : \operatorname{Re} \left((1 - \lambda) \frac{R_q^\eta f(z)}{z} + \lambda D_q (R_q^\eta f(z)) \right) < \gamma, \right. \\ &\quad \left. 0 < q < 1; \eta > -1; 0 \leq \lambda \leq 1; 1 < \gamma \leq 2; z \in U \right\}, \end{aligned}$$

the operator R_q^η was introduced and studied by Aldweby and Darus (see [2]),

(5) If we take $F(z) = z + \sum_{n=2}^{\infty} [n]_q^m z^n + (-1)^m \sum_{n=1}^{\infty} [n]_q^m z^n$ ($0 < q < 1, m \in \mathbb{N}_0$), the class $\overline{S}_H(z + \sum_{n=2}^{\infty} [n]_q^m z^n + (-1)^m \sum_{n=1}^{\infty} [n]_q^m z^n, m, \lambda, \gamma)$ reduces to the class

$$\begin{aligned} \overline{R}_H(q, m, \lambda, \gamma) &= \left\{ f \in \overline{S}_H : \operatorname{Re} \left((1 - \lambda) \frac{D_q^m f(z)}{z} + \lambda D_q (D_q^m f(z)) \right) < \gamma, \right. \\ &\quad \left. 0 < q < 1, 0 \leq \lambda \leq 1; 1 < \gamma \leq 2; m \in \mathbb{N}_0; z \in U \right\}, \end{aligned}$$

the operator $D_q^m f(z)$ was introduced and studied by Govindaraj and Sivasubramanian [17] and Murugusundaramoorthy and Vijaya [23] (see also Jahangiri [19]).

(6) If we take $F(z) = z + \sum_{n=2}^{\infty} \left[\frac{1+l+\mu([n]_q-1)}{l+1} \right] \eta z^n + (-1)^m \sum_{n=1}^{\infty} \left[\frac{1+l+\mu([n]_q-1)}{l+1} \right] \eta z^n$ ($0 < q < 1, l, \mu \geq 0, \eta \in \mathbb{N}_0$), the class $\overline{S}_H(z + \sum_{n=2}^{\infty} \left[\frac{1+l+\mu([n]_q-1)}{l+1} \right] \eta z^n + (-1)^m \sum_{n=1}^{\infty} \left[\frac{1+l+\mu([n]_q-1)}{l+1} \right] \eta z^n, \mu, \eta, \lambda, \gamma)$ reduces to the class $\overline{R}_H(q, l, \mu, \eta, \lambda, \gamma) =$

$$\begin{aligned} &\left\{ f \in \overline{S}_H : \operatorname{Re} \left((1 - \lambda) \frac{I_q^\eta(\mu, l)f(z)}{z} + \lambda D_q (I_q^\eta(\mu, l)f(z)) \right) < \gamma \right. \\ &\quad \left. 0 < q < 1; \eta \in \mathbb{N}_0; \mu, l \geq 0; 0 \leq \lambda \leq 1; 1 < \gamma \leq 2; z \in U \right\}, \end{aligned}$$

where the operator $I_q^\eta(\mu, l)$ was introduced and studied by Wongsaijai and Sukantamala (see [28]) and $\lim_{q \rightarrow 1^-} I_q^\eta(\mu, l)$ reduces to the operator $I(\eta, \mu, l)$,

where $I(\eta, \mu, l)f(z)$ is the modified Catas operator (see [21]),

$$\begin{aligned} I(\eta, \mu, l)f(z) &= I^\eta(\mu, l)h(z) + \overline{I^\eta(\mu, l)g(z)} \\ &= z + \sum_{n=2}^\infty \left[\frac{1+l+\mu([n]_q-1)}{l+1} \right]^\eta |a_n| z^n \\ &\quad + (-1)^m \sum_{n=1}^\infty \left[\frac{1+l+\mu([n]_q-1)}{l+1} \right]^\eta |b_n| z^n, \end{aligned}$$

where $I^\eta(\mu, l)$ is the extended multiplier transformation (see [10]).

(7) If we take $F(z) = z + \sum_{n=2}^\infty \frac{\Gamma_q(n+1)\Gamma_q(2-\mu)}{\Gamma_q(2)\Gamma_q(n+1-\mu)} z^n + (-1)^m \sum_{n=1}^\infty \frac{\Gamma_q(n+1)\Gamma_q(2-\mu)}{\Gamma_q(2)\Gamma_q(n+1-\mu)} z^n$ ($0 < q < 1, \mu < 2$), the class

$$\overline{S}_H(z + \sum_{n=2}^\infty \frac{\Gamma_q(n+1)\Gamma_q(2-\mu)}{\Gamma_q(2)\Gamma_q(n+1-\mu)} z^n + (-1)^m \sum_{n=1}^\infty \frac{\Gamma_q(n+1)\Gamma_q(2-\mu)}{\Gamma_q(2)\Gamma_q(n+1-\mu)} z^n, \lambda, \gamma)$$

reduces to the class

$$\begin{aligned} \overline{R}_H(q, \mu, \lambda, \gamma) &= \left\{ f \in \overline{S}_H : \operatorname{Re} \left((1-\lambda) \frac{\Omega_{q,z}^\mu f(z)}{z} + \lambda D_q(\Omega_{q,z}^\mu f(z)) \right) < \gamma, \right. \\ &\quad \left. 0 < q < 1; \mu < 2; 0 \leq \lambda \leq 1; 1 < \gamma \leq 2; z \in U \right\}, \end{aligned}$$

the operator $\Omega_{q,z}^m$ was introduced and studied by Murugusuardaramoorthy et al. (see [22]) and $\lim_{q \rightarrow 1^-} \Omega_{q,z}^m f(z)$ reduces to the operator $\Omega_z^m f(z)$, where the operator $\Omega_z^m f(z)$ was introduced and studied by Owa and Srivastava, (see [27]).

2. Coefficient estimates

Unless otherwise mentioned, we shall assume in the reminder of this paper that, $1 < \gamma \leq 2, 0 \leq \lambda \leq 1, A_n, B_n \geq 0$ and $z \in U$.

Theorem 1. *Let $f = h + \bar{g}$ be such that $h(z)$ and $g(z)$ given by (1.2). Furthermore, let*

$$(2.1) \quad \sum_{n=2}^\infty \left[\lambda([n]_q - 1) + 1 \right] |A_n| |a_n| + \sum_{n=1}^\infty \left[\lambda([n]_q - 1) + 1 \right] |B_n| |b_n| \leq \gamma - 1.$$

where $a_1 = 1$ and $n(\gamma - 1) \leq [\lambda([n]_q - 1) + 1]|A_n| \leq [\lambda([n]_q - 1) + 1]|B_n|$ for $n \geq 2$, then $f(z)$ is sense-preserving, harmonic univalent in U and $f(z) \in S_{H,q}(F, \lambda, \gamma)$.

Proof. If $z_1 \neq z_2$, then

$$\begin{aligned} \left| \frac{f(z_1) - f(z_2)}{h(z_1) - h(z_2)} \right| &\geq 1 - \left| \frac{g(z_1) - g(z_2)}{h(z_1) - h(z_2)} \right| = 1 - \left| \frac{\sum_{n=1}^{\infty} b_n (z_1^n - z_2^n)}{(z_1 - z_2) + \sum_{n=2}^{\infty} a_n (z_1^n - z_2^n)} \right| \\ &> 1 - \frac{\sum_{n=1}^{\infty} n |b_n|}{1 - \sum_{n=2}^{\infty} n |a_n|} \\ &\geq 1 - \frac{\sum_{n=1}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |B_n|}{\gamma - 1} |b_n|}{1 - \sum_{n=2}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |A_n|}{\gamma - 1} |a_n|} \geq 0, \end{aligned}$$

which proves univalence. Note that $f(z)$ is sense-preserving in U . This is because

$$\begin{aligned} |h'(z)| &\geq 1 - \sum_{n=2}^{\infty} n |a_n| |z|^{n-1} \\ &> 1 - \sum_{n=2}^{\infty} n |a_n| \geq 1 - \sum_{n=2}^{\infty} \frac{[\lambda(n-1) + 1] |A_n|}{\gamma - 1} |a_n| \\ &\geq \sum_{n=1}^{\infty} \frac{[\lambda(n-1) + 1] |B_n|}{\gamma - 1} |b_n| \geq \sum_{n=1}^{\infty} n |b_n| \\ &> \sum_{n=1}^{\infty} n |b_n| |z|^{n-1} \geq |g'(z)|. \end{aligned}$$

Now, we will show that $f(z) \in S_H(F, \lambda, \gamma)$. We only need to show that if (2.1) holds then the condition (1.7) is satisfied. Using the fact that $Re\{w\} < \gamma$ if and only if $|w - 1| < |w - (2\gamma - 1)|$, it suffices to show that

$$\left| \frac{(1-\lambda) \frac{(h*H)(z) + \overline{(g*G)(z)}}{z} + \lambda [D_q(h*H)(z) + \overline{D_q(g*G)(z)}] - 1}{(1-\lambda) \frac{(h*H)(z) + \overline{(g*G)(z)}}{z} + \lambda [D_q(h*H)(z) + \overline{D_q(g*G)(z)}] - (2\gamma - 1)} \right| < 1.$$

We have

$$\begin{aligned} &\left| \frac{(1-\lambda) \frac{(h*H)(z) + \overline{(g*G)(z)}}{z} + \lambda [D_q(h*H)(z) + \overline{D_q(g*G)(z)}] - 1}{(1-\lambda) \frac{(h*H)(z) + \overline{(g*G)(z)}}{z} + \lambda [D_q(h*H)(z) + \overline{D_q(g*G)(z)}] - (2\gamma - 1)} \right| \\ &= \left| \frac{\sum_{n=2}^{\infty} [\lambda(n-1) + 1] A_n a_n z^{n-1} + \sum_{n=1}^{\infty} [\lambda(n-1) + 1] B_n \overline{b_n} z^{n-1}}{2(\gamma - 1) - \sum_{n=2}^{\infty} [\lambda(n-1) + 1] A_n a_n z^{n-1} + \sum_{n=1}^{\infty} [\lambda(n-1) + 1] B_n \overline{b_n} z^{n-1}} \right| \\ &\leq \frac{\sum_{n=2}^{\infty} [\lambda([n]_q - 1) + 1] |A_n| |a_n| |z|^{n-1} + \sum_{n=1}^{\infty} [\lambda([n]_q - 1) + 1] |B_n| |b_n| |z|^{n-1}}{2(\gamma - 1) - \sum_{n=2}^{\infty} [\lambda([n]_q - 1) + 1] |A_n| |a_n| |z|^{n-1} - \sum_{n=1}^{\infty} [\lambda([n]_q - 1) + 1] |B_n| |b_n| |z|^{n-1}} \\ &< \frac{\sum_{n=2}^{\infty} [\lambda([n]_q - 1) + 1] |A_n| |a_n| + \sum_{n=1}^{\infty} [\lambda([n]_q - 1) + 1] |B_n| |b_n|}{2(\gamma - 1) - \sum_{n=2}^{\infty} [\lambda([n]_q - 1) + 1] |A_n| |a_n| - \sum_{n=1}^{\infty} [\lambda([n]_q - 1) + 1] |B_n| |b_n|}, \end{aligned}$$

which is bounded above by 1 by using (2.1). This completes the proof of Theorem 1. The harmonic univalent functions of the form

$$(2.2) \quad f(z) = z + \sum_{n=2}^{\infty} \frac{\gamma - 1}{[\lambda([n]_q - 1) + 1] |A_n|} x_n z^n + \sum_{n=1}^{\infty} \frac{\gamma - 1}{[\lambda([n]_q - 1) + 1] |B_n|} \overline{y_n z^n},$$

where $\sum_{n=2}^{\infty} |x_n| + \sum_{n=1}^{\infty} |y_n| = 1$, show that the coefficient bound given by (2.1) is sharp. It is worthy to note that the function of the form (2.2) belongs to the class $S_{H,q}(F, \lambda, \gamma)$ for all $\sum_{n=2}^{\infty} |x_n| + \sum_{n=1}^{\infty} |y_n| \leq 1$ because coefficient inequality (2.1) holds.

Theorem 2. *A function $f(z)$ of the form (1.3) is in the class $\overline{S}_{H,q}(F, \lambda, \gamma)$ if and only if*

$$(2.3) \quad \sum_{n=2}^{\infty} \left[\lambda \left([n]_q - 1 \right) + 1 \right] |A_n| |a_n| + \sum_{n=1}^{\infty} \left[\lambda \left([n]_q - 1 \right) + 1 \right] |B_n| |b_n| \leq \gamma - 1.$$

where $a_1 = 1$ and $n(\gamma - 1) \leq [\lambda([n]_q - 1) + 1]|A_n| \leq [\lambda([n]_q - 1) + 1]|B_n|$ for $n \geq 2$.

Proof. Since $\overline{S}_{H,q}(F, \lambda, \gamma) \subset S_{H,q}(F, \lambda, \gamma)$, we only need to prove the "only if" part of this theorem. To this end, for functions $f(z)$ of the form (1.3), we notice that the condition

$$\operatorname{Re} \left\{ (1 - \lambda) \frac{(h * H)(z) + \overline{(g * G)(z)}}{z} + \lambda \left[D_q(h * H)(z) + D_q \overline{(g * G)(z)} \right] \right\} < \gamma,$$

is equivalent to

$$\begin{aligned} & \operatorname{Re} \left\{ 1 + \sum_{n=2}^{\infty} [\lambda([n]_q - 1) + 1] |A_n| |a_n| z^{n-1} + \sum_{n=1}^{\infty} [\lambda([n]_q - 1) + 1] |B_n| |b_n| \overline{z^{n-1}} \right\} \\ & \leq 1 + \sum_{n=2}^{\infty} [\lambda([n]_q - 1) + 1] |A_n| |a_n| |z|^{n-1} + \sum_{n=1}^{\infty} [\lambda([n]_q - 1) + 1] |B_n| |b_n| |z|^{n-1} < \gamma. \end{aligned}$$

Letting $z \rightarrow 1^-$ along the real axis, we obtain the inequality (2.3). This completes the proof of Theorem 2.

3. Distortion theorem

Theorem 3. *Let the function $f(z)$ defined by (1.3) belongs to the class $\overline{S}_{H,q}(F, \lambda, \gamma)$ and $(\lambda q + 1)|A_2| \leq [\lambda([n]_q - 1) + 1]|A_n| \leq [\lambda([n]_q - 1) + 1]|B_n|$ for $n \geq 2$. Then for $|z| = r < 1$, we have*

$$(3.1) \quad \begin{aligned} & (1 - |b_1|) r - \left(\frac{\gamma - 1}{(\lambda q + 1)|A_2|} - \frac{|B_1|}{(\lambda q + 1)|A_2|} |b_1| \right) r^2 \\ & \leq |f(z)| \leq (1 + |b_1|) r + \left(\frac{\gamma - 1}{(\lambda q + 1)|A_2|} - \frac{|B_1|}{(\lambda q + 1)|A_2|} |b_1| \right) r^2 \end{aligned}$$

for $|b_1| \leq \frac{\gamma - 1}{|B_1|}$. The results are sharp with equality for the functions $f(z)$ defined by

$$(3.2) \quad f(z) = z + |b_1| \bar{z} + \left(\frac{\gamma - 1}{(\lambda q + 1)|A_2|} - \frac{|B_1|}{(\lambda q + 1)|A_2|} |b_1| \right) \bar{z}^2$$

and

$$(3.3) \quad f(z) = z - |b_1| \bar{z} - \left(\frac{\gamma - 1}{(\lambda q + 1) |A_2|} - \frac{|B_1|}{(\lambda q + 1) |A_2|} |b_1| \right) z^2.$$

Proof. We only prove the right-hand inequality. The proof for the left-hand inequality is similar and will be omitted. Since

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n + \sum_{n=1}^{\infty} \overline{b_n z^n},$$

then

$$\begin{aligned} |f(z)| &\leq (1 + |b_1|)r + \sum_{n=2}^{\infty} (|a_n| + |b_n|) r^n \leq (1 + |b_1|)r + \sum_{n=2}^{\infty} (|a_n| + |b_n|) r^2 \\ &= (1 + |b_1|)r + \frac{\gamma - 1}{(\lambda q + 1) |A_2|} \sum_{n=2}^{\infty} \left(\frac{(\lambda q + 1) |A_2|}{\gamma - 1} |a_n| + \frac{(\lambda q + 1) |A_2|}{\gamma - 1} |b_n| \right) r^2 \\ &\leq (1 + |b_1|)r + \frac{\gamma - 1}{(\lambda q + 1) |A_2|} \sum_{n=2}^{\infty} \left(\frac{[\lambda([n]_q - 1) + 1] |A_n|}{\gamma - 1} |a_n| + \frac{[\lambda([n]_q - 1) + 1] |B_n|}{\gamma - 1} |b_n| \right) r^2 \\ &\leq (1 + |b_1|)r + \frac{\gamma - 1}{(\lambda q + 1) |A_2|} \left(1 - \frac{|B_1|}{\gamma - 1} |b_1| \right) r^2 \\ &= (1 + |b_1|)r + \left(\frac{\gamma - 1}{(\lambda q + 1) |A_2|} - \frac{|B_1|}{(\lambda q + 1) |A_2|} |b_1| \right) r^2. \end{aligned}$$

The functions $f(z)$ given by (3.2) and (3.3), respectively, for $|b_1| \leq \frac{\gamma - 1}{|B_1|}$ show that the bounds given in Theorem 3 are sharp.

4. Extreme points

Theorem 4. Let $f(z)$ be given by (1.3). Then $f(z) \in \overline{S}_{H,q}(F, \lambda, \gamma)$ if and only if

$$(4.1) \quad f(z) = \sum_{n=1}^{\infty} (\mu_n h_n(z) + \eta_n g_n(z)),$$

where $h_1(z) = z$,

$$(4.2) \quad h_n(z) = z + \frac{\gamma - 1}{[\lambda([n]_q - 1) + 1] |A_n|} z^n, \quad (n = 2, 3, \dots)$$

and

$$(4.3) \quad g_n(z) = z + \frac{\gamma - 1}{[\lambda([n]_q - 1) + 1] |B_n|} \bar{z}^n, \quad (n = 1, 2, \dots),$$

$\mu_n \geq 0, \eta_n \geq 0, \sum_{n=1}^{\infty} (\mu_n + \eta_n) = 1$. In particular, the extreme points of the class $\overline{S}_H(F, \lambda, \gamma)$ are $\{h_n\}$ and $\{g_n\}$, respectively.

Proof. Suppose that

$$f(z) = \sum_{n=1}^{\infty} (\mu_n h_n(z) + \eta_n g_n(z))$$

$$= z + \sum_{n=2}^{\infty} \frac{\gamma-1}{[\lambda([n]_q-1)+1]|A_n|} \mu_n z^n + \sum_{n=1}^{\infty} \frac{\gamma-1}{[\lambda([n]_q-1)+1]|B_n|} \eta_n \overline{z}^n.$$

Then

$$\sum_{n=2}^{\infty} \frac{[\lambda([n]_q-1)+1]|A_n|}{\gamma-1} \left(\frac{\gamma-1}{[\lambda([n]_q-1)+1]|A_n|} \mu_n \right)$$

$$+ \sum_{n=1}^{\infty} \frac{[\lambda([n]_q-1)+1]|B_n|}{\gamma-1} \left(\frac{\gamma-1}{[\lambda([n]_q-1)+1]|B_n|} \eta_n \right) = \sum_{n=2}^{\infty} \mu_n + \sum_{n=1}^{\infty} \eta_n = 1 - \mu_1 \leq 1$$

and so $f(z) \in \overline{S}_{H,q}(F, \lambda, \gamma)$.

Conversely, if $f(z) \in \overline{S}_{H,q}(F, \lambda, \gamma)$, then

$$|a_n| \leq \frac{\gamma-1}{[\lambda([n]_q-1)+1]|A_n|}, \quad (n \geq 2)$$

and

$$|b_n| \leq \frac{\gamma-1}{[\lambda([n]_q-1)+1]|B_n|}, \quad (n \geq 1).$$

Setting

$$\mu_n = \frac{[\lambda([n]_q-1)+1]|A_n|}{\gamma-1} |a_n|, \quad (n = 2, 3, \dots)$$

and

$$\eta_n = \frac{[\lambda([n]_q-1)+1]|B_n|}{\gamma-1} |b_n|, \quad (n = 1, 2, \dots).$$

Since $0 \leq \mu_n \leq 1$ ($n = 2, 3, \dots$) and $0 \leq \eta_n \leq 1$ ($n = 1, 2, \dots$), $\mu_1 = 1 - \sum_{n=2}^{\infty} \mu_n + \sum_{n=1}^{\infty} \eta_n \geq 0$, then, we can see that $f(z)$ can be expressed in the form (4.1). This completes the proof of the Theorem 4.

Now, we show that the class $\overline{S}_{H,q}(F, \lambda, \gamma)$ is closed under convex combinations of its members.

Theorem 5. *The class $\overline{S}_{H,q}(F, \lambda, \gamma)$ is closed under convex combination.*

Proof. For $i = 1, 2, 3, \dots$, let $f_i \in \overline{S}_{H,q}(F, \lambda, \gamma)$, where f_i is given by

$$f_i = z + \sum_{n=2}^{\infty} |a_{n_i}| z^n + \sum_{n=1}^{\infty} |b_{n_i}| \overline{z}^n.$$

Then, by using Theorem 2, we have

$$(4.4) \quad \sum_{n=2}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |A_n|}{\gamma - 1} |a_{n_i}| z^n + \sum_{n=1}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |B_n|}{\gamma - 1} |b_{n_i}| \bar{z}^n \leq 1.$$

For $\sum_{n=1}^{\infty} t_i = 1$, $0 \leq t_i \leq 1$, the convex combination of f_i may be written as

$$(4.5) \quad \sum_{i=1}^{\infty} t_i f_i(z) = z + \sum_{n=2}^{\infty} \left(\sum_{i=1}^{\infty} t_i |a_{n_i}| \right) z^n + \sum_{n=1}^{\infty} \left(\sum_{i=1}^{\infty} t_i |b_{n_i}| \right) \bar{z}^n.$$

Then by (4.4), we have

$$\begin{aligned} & \sum_{n=2}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |A_n|}{\gamma - 1} \left(\sum_{i=1}^{\infty} t_i |a_{n_i}| \right) + \sum_{n=1}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |B_n|}{\gamma - 1} \left(\sum_{i=1}^{\infty} t_i |b_{n_i}| \right) \\ &= \sum_{i=1}^{\infty} t_i \left(\sum_{n=2}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |A_n|}{\gamma - 1} |a_{n_i}| + \sum_{n=1}^{\infty} \frac{[\lambda([n]_q - 1) + 1] |B_n|}{\gamma - 1} |b_{n_i}| \right) \\ &\leq \sum_{i=1}^{\infty} t_i = 1. \end{aligned}$$

This is the condition required by (2.2) and so $\sum_{i=1}^{\infty} t_i f_i(z) \in \bar{S}_{H,q}(F, \lambda, \gamma)$. This completes the proof of the Theorem 5.

Remark 2. Specializing F , in the above results, we obtain the corresponding results for the corresponding classes $\bar{S}_{H,q}(F, \gamma)$, $\bar{S}_{H,q}(\lambda, \gamma)$, $\bar{R}_{Hr,s}(q, \alpha_1, \beta_1, \lambda, \gamma)$, $\bar{S}_{Hr}(\eta, \lambda, \gamma)$, $\bar{R}_H(q, m, \lambda, \gamma)$, $\bar{R}_H(q, l, \mu, \eta, \lambda, \gamma)$ and $\bar{R}_H(q, \mu, \lambda, \gamma)$ defined in the introduction.

Acknowledgements

The authors would like to thank the referees of the paper for their helpful suggestions.

References

- [1] H. Aldweby, M. Darus, *A subclass of harmonic univalent functions associated with q -analogue of Dziok-Srivastava operator*, ISRN Math. Anal. 2013, Art. ID 382312, 1-6.
- [2] H. Aldweby, M. Darus, *Some subordination results on q -analogue of ruscheweyh differential operator*, Abstract and Appl. Anal., 2014 (2014), ID 958563, 1-6.

- [3] R.A. Al-Khal, *Goodman-Ronning-type harmonic univalent functions based on Dziok-Srivastava operator*, Appl. Math. Sci., 5 (2011), 573-584.
- [4] H.A. Al-Kharsani, R.A. Al-Khal, *Univalent harmonic functions*, J. Inequal. Pure and Appl. Math., 8 (2007), 1-8.
- [5] K. Al-Shaqsi, M. Darus, *Differential sandwich theorems with generalised derivative operator*, Inter . J. Comp. Math. Sci, 2 (2008), 75-78.
- [6] M. H. Annby, Z. S. Mansour, *q-Fractional calculus and equations*, Lecture Notes in Math., 2056, Springer-Verlag Berlin Heidelberg, 2012.
- [7] M. K. Aouf, H. E. Darwish, G. S. Sălăgean, *On a generalization of starlike functions with negative coefficients*, Math. Tome 43, 66 (2001), 3-10.
- [8] M. K. Aouf, A. O. Mostafa, A. Shamandy, E. A. Adwan, *Subclass of harmonic univalent functions defined by Dziok-Srivastava operator*, Le Matematiche, 68 (2013), 165-177.
- [9] A.Aral, V. Gupta, R. P. Agarwal, *Applications of q-calculus in operator theory*, Springer, New York, NY, USA, 2013.
- [10] A. Catas, *On certain classes of p-valent functions defined by multiplier transformations*, In: Proc. Book of the International Symposium on Geometric Functions Theory and Applications, Istanbul, Turkey, 2007, 241-250.
- [11] J. Clunie, T. Shell-Small, *Harmonic univalent functions*, Ann. Acad. Sci. Fenn. Ser. A. I. Math., 9 (1984), 3-25.
- [12] M. Darus, N. D. Sangle, *On certain class of harmonic univalent functions defined by generalized derivative operator*, Internat. J. Open Problems Compt. Math., 4 (2011), 83-96.
- [13] K. K. Dixit, S. Porwal, *A subclass of harmonic univalent functions with positive coefficients*, Tamkang J. Math., 41 (2010), 261-269.
- [14] K.K. Dixit, S. Porwal, *A new subclass of harmonic univalent functions defined by fractional calculus operator*, General Math., 19 (2011), 81-89.
- [15] R. M. El-Ashwah, M. K. Aouf, A. Shamandy, E. E. Ali, *Subordination results for some subclasses of analytic functions*, Math. Bohemica, 136 (2011), 311-331.
- [16] G. Gasper, M. Rahman, *Basic hypergeometric series*, Cambridge Univ. Press, Cambridge, U. K., 1990.
- [17] M. Govindaraj, S. Sivasubramanian, *On a class of analytic function related to conic domains involving q-calculus*, Analysis Math., 43 (2017), 475-487.

- [18] F. H. Jackson, *On q -functions and a certain difference operator*, Transactions of the Royal Society of Edinburgh, 46 (1908), 253-281.
- [19] J. M. Jahangiri, *Harmonic univalent functions defined by q -calculus operators*, Internat. J. Math. Anal. and Appl., 5 (2018), 39-43.
- [20] A. Mohammed, M. Darus, *A generalized operator involving the q -hypergeometric function*, Mat. Vesnik, 65 (2013), 454-465.
- [21] A. O. Mostafa, M. K. Aouf, A. Shamandy, E. A. Adwan, *Subclass of harmonic univalent functions defined by modified Catas operator*, Acta Univ. Apulensis, 2014, 249-261.
- [22] G. Murugusundaramoorthy, C. Selvaraj, O. S. Babu, *Subclasses of starlike functions associated with fractional q -calculus operators*, J. of Complex Analysis, Vol. 2013, Art. ID 572718, 1-8.
- [23] G. Murugusundaramoorthy, K. Vijaya, *Subclasses of bi-univalent functions defined by Salagean type q -difference operator*, Math. CV, 2017, 1-10.
- [24] S. Porwal, M. K. Aouf, *On a new subclass of univalent functions defined by fractional calculus operator*, J. Fractional Calculus and Appl., 4 (2013), 1-12.
- [25] T. M. Seoudy, M. K. Aouf, *Convolution properties for certain classes of analytic functions defined by q -derivative operator*, Abstract and Appl. Anal., 2014 (2014), 1-7.
- [26] T. M. Seoudy, M. K. Aouf, *Coefficient estimates of new classes of q -starlike and q -convex functions of complex order*, J. Math. Inequal, 10 (2016), 135-145.
- [27] S.Owa, H. M. Srivastava, *Univalent and starlike generalized hypergeometric function*, Canadian J. Math., 39 (1987), 1057-1077.
- [28] B. Wongsaijai, N. Sukantamala, *Applications of fractional q -calculus to certain subclass of analytic p -valent functions with negative coefficients*, Abstract and Applied Analysis, Vol. 2015, Art. ID 273236, 1-12.

Accepted: 20.07.2019